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Section 1.7 The Precise Definition of Limit

We find how close x needs to be to a limiting value to make y sufficiently close to a limiting y-
value. \ - \
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It comes down to getting a bound or ceiling on how fast f(x) is changing with respect to x.
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Use the given graph of fto find a number § such that if |[x — 1] < § then |f{x) — 1] < 0.2.
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Use the given graph of f{x) = \_.f";_( to find a number & such that if |x — 4| < & then )-...”'} - 2‘ < 0.4.
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For the limit lim (x3 — 5x + 5) = 3, lllustrate this definition by finding the largest possible values of & that correspa
X =2

graphing calculator is recommended.

£ =0.2 and £ = 0.1. (Round your answers to four decimal places.)
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A machinist is required to manufacture a circular metal disk with area 1200 cm?2.

(a) What radius produces such a disk? (Round your answer to four decimal places.)

(b) If the machinist is allowed an error tolerance of +7 cm? in the area of the disk, how close to the ideal radius in part
(a) must the machinist control the radius? (Round your answers to four decimal places.)
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(c) Interms of the g, & definition of lim f(x) = L, what is x?
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